auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

205F

|
1 205

'.gfa'j.ii.:'- :::
HPEVY B
AR R R R R R R R S o S B R S S AR
s T}, o PlLY T o 1P JO PO S P [ [ 0 R

BT N (o) as ol

St R g
Gy AR e oyl

s m el e LGLL

[ “"lﬁ.jh_ &'#hﬁu“J‘wujuhghﬁjjﬁ@ﬁsj,gjﬁjT ]

[ L] o JEC - P P [ XY ]

R R R R KA RARARE

________
ek

ot g B glocds g oluad o Jloeiol Slge ylgne

oyl U] ojlads 51| Jlge Sloas silial 3lga R,
T i ¥ [ gemaldil) sl g pogas b3 |
Fe ™ ¥: (glameler g By ¥ g0 g Wae o g plFone gilee) gelaial g jl5 a0 Y
A 4l ¥ (addy wliliplyy 9 b 5e oliiiplyy) gogese olilplyy | 7
! Al y liddnsls glaw li g il | F

" b wrmly Al &

D18 oiio b poi (a0l oy
i Gl Dl fodile 1 solasl %

R REIRG R R REIR R R R IR R R | R IR R R

il ge by il e e il by B e e sl pul pe o Lgl7 Bl g il ol paled sl om0 ol g g Rl D gy gt el iy By ﬁ

< % A RARARA R R
Q

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Y dmino 205F o PEES P L™

HguaedSl) i g uogok k)

[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

1-  This evening's meeting is one in which important issues would be discussed; your
attendance is -—————---- .

1) obligatory 2) didactic 3) relevant 4) explicit

2-  After a long ------- -— between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4) hesitation

3- In Australia, animals are reared on crop residue, Without the animals, these residues
would have to be —-———-=- by other means before another crop can be grown—often by
burning.
1) deprived of 2y disposed of 3) resorted to 4) alluded to

4-  Unable to ---———- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acclaim 3) bear 4) treat

5-  Why do some animals, such as humans, ----—--- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen vietories in a row, the Australian ericket team was looking quite unassailable,
but they were finally ----—-- at the hands of the Indians.
1} dispersed 2) vangquished 3) confronted 4) disregarded

7-  The salesboy tried to persuade the old man te buy goods from him, but had to give up
when the old man told him ——-—------ that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

5- But he had become —------—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4 affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
--------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his -——----- behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinct 4) bizarre

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?

And why can that be (11) --—--—---—-- anyway? A complete understanding isn’t here vet,
(12) -----——--- neuroscientists are already on the trail of (13) ---—------. They also have some
good news for each of us (14) -----—--- to ignite those inventive fires. As it turns out.
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(15) —----m-- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by cheosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1I:

The middle class is hard to define, in part because being "middle class" is more than just
economic position. A very large portion of Americans identify themselves as middle
class even though they vary widely in lifestyle and in resources at their disposal. But the
idea that the United States is an open-class system leads many to think that the majority
have a middle-class lifestyle: thus, the middle class becomes the ubiguitous norm even
though many who call themselves middle class have a tenuous hold on this class
position.

The lower middle class includes workers in the skilled trades and low-income
bureaucratic workers, many of whom may actually define themselves as middle class.
Also known as the working class, this class includes blue-collar workers (those in skilled
trades who do manual labor) and many service workers, such as secretaries. hair stylists.
food servers. police, and firefighters. Medium to low income. education. and
occupational prestige define the lower middle class relative to the class groups above iL.
The term lower in this class designation refers to the relative position of the group in the
stratification system. but it has a pejorative sound to many people. especially to people
who are members of this class, many of whom think of themselves as middle class.

The lower class 1s composed primarily of the displaced and poor. People in this class
have little formal education and are often unemployed or working in minimum-wage
jobs. [A] People of color and women make up a disproportionate part of this class. The

poor include the working poor—those who work at least 27 hours a week but whose
wages fall below the federal poverty level. Six percent of all working people now live
below the poverty line. The concept of the underclass has been added to the lower class.
[B] The underclass includes those who are likely to be permanently unemployed and
without means of economic support. [C] Rejected from the economic system, those in
the underclass may become dependent on public assistance or illegal activities. [D]
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16- According to the passage, why do most people identify themselves as middle ¢lass in the
United States?
1) They have about the same lifestyle as evervone else in the country.
2) They identify themselves with the majority who have normal lifestyles.
3) They don’t really know how to define their status because it is unclear.
4) They prefer not to admit that there are class distinctions in the United States.

17-  The word "it" in paragraph 2 refers to --——------ .
1) term 2) group 3) system 4) position

18- Which of the following statements about the working class can be inferred from the
passage?

1) They are considered lower class.
2) They work in jobs that pay minimum wage.
3) They are service workers and manual laborers.
4) They are often not able to find entry-level jobs.
19-  According to the passage, why has the underclass emerged?
1) The increase in crime has supported a new class of people who live by engaging in
illegal activities.
2) Minimum-wage jobs no longer support a class of people at a standard level in the
economic system.
3) The new term was necessary because the lower class enjoyed a higher lifestyle than
it had previously.
4) Changes in the economy have caused an entire class of people to survive by welfare
or crime.
20- Where in paragraph 3 would the following sentence best fit?
"The working poor constitute a large portion of those who are poor.

1) [A] 2) [B] 3) [C] 4) [D]
PASSAGE 2:

Conflict theorists see change as inevitable and constant: “Every society is subjected. at
every moment, to changes... Everv society experiences, at every moment. social
conflicts.” (Dahrendorf, 1958). Order and stability are not given: conflict and change
are, and they may eventually build to a widespread revolution and a new society. Society
creates contradictions and differences that make conflict, change. and even widespread
revolution inevitable.

The conflict model. although it has many origins, is probably most indebted to the
work of Karl Marx. In contrast to the usual systems approach. the conflict model does
not give all sectors of society equal importance. Marx focused on economic institutions.
He argued that how people make a living in society, how they survive in the economic
arend. 15 primary to all else about them. How a society is organized economically —ilit
is feudalistic or capitalistic — will determine everything else about it including its
government. its dominant values, morals, laws, and 1deas.

Mot all conflict theorists are Marxists. One of the most important alternative views
to the Marxist conflict model was proposed by Max Weber. Weber, like Marx, saw
society as a competition for power among various associational classes. but it is not
limited to them.
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21-  What aspect of the conflict model is NOT discussed by the passage?

1) Its origin 2) Its demerits 3) Its versions 4) Its central theme
22-  Why does the writer quote Dahrendorf in paragraph 17

1) To introduce an opponent of the conflict model

2) To emphasize the main theme of the conflict model

3) To compare his ideas with those ol other conllict theorists

4) To explain how his works contributed to the development of the conflict model
23- The word "eventually” in paragraph 1 could best be replaced by -----—----- :

1) chiefly 2)evenly 3) ultimately 4) randomly
24-  Which of the following statements about the Marxist conflict model is true according to
the passage?

1) It tavors capitalistic societies over feudalistic societies.

2} It has roots in the ideas of Karl Marx and Max Weber.

3) It holds that social order is maintained by equality.

4) It sees a relationship between economic, political, and social conditions in society.
25-  What does the paragraph following the passage most probably discuss?

1} How social classes are created

2) How Weber refined the conflict model

3) Another version of the Marxist contlict model

4) Attitudes of conllict theorists toward Marx and Weber

PASSAGE 3:

In the light of these problems, a number of researchers have attempted to develop
improved versions of the SRRS. For example, the Life Experiences Survey (LES),
assembled by Irwin Sarason and colleagues. has become a widely used measure of stress
in contemporary research. The LES revises and builds on the SRRS survey in a variety
of ways that correct, at least in part, most of the problems with it.

Specifically. the LES recognizes that stress involves more than mere change and asks
respondents to indicate whether events had a positive or negative impact on them. This
strategy permits the computation of positive change, negative change, and total change
scores. which helps researchers gain much more insight into which facets of stress are
most crucial. The LES also takes into consideration differences among people in their
appraisal of stress, by dropping the normative weights and replacing them with
personally assigned weightings of the impact of relevant events. Ambiguity in items is
decreased by providing more elaborate descriptions of many items to clarify their
meaning.

The LES deals with the failure of the SRRS to sample the full domain of stressful
events in several ways. First, some significant omissions from the SRRS have been
added to the LES. Second. the LES allows the respondent to write personally important
evernts that are not included on the scale. Third, the LES has an extra section just for
students. Sarason and colleagues suggest that special. tailored sections of this sort be
added for specific populations whenever it is useful.
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26- What does the paragraph preceding the passage most probably discuss?
1) Different versions of SRRS
2) How researchers measure stress
3) Main drawbacks to the SRRS
4) Problems associated with measuring stress
27-  According to the passage, why does the LES ask respondents to classify change as positive
or negative?
1) To introduce normative weighting of stress events
2) To analyze the long-term consequences of change
3) To determine which aspects of change are personally significant
4) To explain why some people handle stress better than others
28-  The word "them" in paragraph 2 refers to —--—--—- 4
1) weights 2) people 3) appraisals 4) differences
29-  According to the passage, which of the following can be inferred about the SRRS as
compared with the LES?
1) The SRRS does not require personal weightings of the effect of events.
2) The SRRS features a section for specific populations such as students.
3) The SRRS includes a space to write in personal events that have not been listed.
4) The SRRS secks to provide a complete picture of stressful events.
30-  Which of the following statements best reflects the author’s opinion of SRRS?
1) It is superior to the LES.
2) There are many problems associated with it.
3) It should be used more often.
4) The scale is most useful for students.
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